
14 MAY HAS THIRTY-ONE DAYS.
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(1) Duko of Wellington b. 1760,

Clucks introduced in 1308.

Ul Sunday after Ascension,

Niipoleon died, 18'21.

iJswego taken, lv'5l4.

Ttimuica taken by England, 1055.

Ice station-iry at Quebec, IboG.

(Jolumbus'B fourth Voyago.

Uattlo ofLodi, 1790.

mil Sunday.

PerceTal assa.ssinated, 1S12.

Old May D.iy.

Henry ti rattan died, 1S20.

Cuvier died, 1832.

Talleyrand died, 183S.

.Fenner born, 1749.

Trinity Sunday.

sir Charles Uagot died, 1843.

Uolumbus died 1500.

lliots at Montreal, 1832.

Alexander Tope born, 1C8S.

Or. I'aley died, 1805.

Queen A'ictoria born, 1819.

\d Sunday after Tnnity.

.•5t. Augustin, Archb. Canterb. d

Kort George taken, 1814.

William I'itt born, 1750.

^3U)Joan of Arc burnt, 1431

.

sir r. Maitland died, 1S54.

Alexander Crudeu born, 1700.

AsTRoxoMicAi Notes.

Polar
distance

of
Pole Star.

Moon near Jupiter.

Moon in Perigee.

^ near jNIercury.

Moon near ^
Moon near Mercury.

^ crosses tlio colure.

Moon near Saturn.

.Moon highest.

Mars Soutli 9.1 even.

Venus South 10.43 mo
^6 sun.

Moon east of Kep;ulus.

Mars south, 8.45 eve.

Mars stat. ^ apogee.

Moon near INIars.

Mars South 8.33 even.

Venus in Pisces.

.Mars in Virgo.

Fupiter in Piscts.

Sun enters Taurus.

Saturn in Taurus.

Moon farthest South.

2/ crosses equator.

$< Gr. Elong. E. 22°57

Venus near }§.
( 9 47^S.)

Moon near Jupiter..

Ur.'inus in Taurus.

.Moon in Perigee.

Mars South 7.40 eve.
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Prob. 31.—How many
balls in a pile whose bi.,se

is square, with 20 on
each side 1

Prob. 32.—If a square
whose sides are 4 feet, :

revolve about one of its

sides, -what will be the

surface and solidity of

the body generated V

Prob. S3.—If a semi-

circle, whose radius is 1,

revolve about its base,

what will be the surface

and solidity of the body
generated.

Prob. 34.—If a seg-

ment of a circle, whose
base is 4, and height 1,

revolve about its base,

what will be the surface
and solidity of the body
generated V

Prob. 35.—If a semi-
circle whose radius is 1,

revolve around a line

tangent to the middle of

its arc, what Avill be the

surface and solidity of

the body generated ?
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ANSNVERS TO THE PllOr>LEMS FOR 1855.

Prob. 27.—Area of a transverse section of the ring =0-1252G953 (nearly = 1-^80) ; distance of

the centre of gravity of that section from the base of it=1000 -^24352=0 04 100
;

to this add the radius of the ring=r(7_;-20)=.35, and we have .30100. Twice this

=.78212, and then multiply by '3.1410=2-4071, and this multiplied, by tlic

sectional area •12520953=0-03084 solid inches, Ans.

Note.—This is worked by the Centrobaryc Method, and the external surface is

supposed to be convex of course, as all wedding rings are, we suppose. Most of our
correspondents Lave worked this supposing it to Iiave hco flat surfaces.

Prob. 28.—Let the mean radius of the Earth=20887G80 feet=a, and 5 milos=20,400 ft=i.
10 l-12=7rt. Then |/(2awi)=25920.783,=the velocity tlie ball must have, if

discharged at the surface of the earth, with which velocity its centrifugal force

just balances the centripetal. But gravity acts with less power above the surface,

hence 25920.783|/(a-i-a+i)=25904.193C feet, Ans.

Note.—The velocity a body would acquire in falling (7912-|-10) miles is that

which answers our purpose. But the action of gravity at the commencement of

motion will be less than 10 l-12th per second. It will be=10 l-12(3950-^o9Gl)»
=10-0428—feet.

Prob. 29.—Let 4=rt, i=2. Then /(af+if)^=8.358G4 feet Ans.

Prob. 30.—Let 100 rods=ffl feet, and 1=6, then a-j-j=2722500 feet=515§ miles, Ans.

Note.—This question requires the rectification of the line called the involute of

a circle.

Prob. 31.—Ans. 59.

Note.—This may be -worked by Indeterminate Analysis, or by the least common
multiple.
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